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QUESTION 1

A client has reported that they cannot establish an FTP connection to your Junos device. Which command would you
use to diagnose the problem? 

A. show interfaces terse 

B. monitor interface traffic 

C. monitor traffic interface 

D. show interfaces extensive 

Correct Answer: C 

 

QUESTION 2

Which three steps are involved in troubleshooting any problem? (Choose three.) 

A. Reboot the device. 

B. Clearly define the problem. 

C. Outline the expected behavior. 

D. Determine who made the changes. 

E. Isolate the problem. 

Correct Answer: BCE 

 

QUESTION 3

Click the Exhibit button. 

-- Exhibit -user@R1> show configuration interfaces 

xe-1/1/0 { 

unit 0 { 

family inet { 

address 17.1.1.1/24; 

} 

family mpls; 

} 
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} 

user@R1> ping 17.1.1.2 size 1473 do-not-fragment 

PING 17.1.1.2 (17.1.1.2): 1473 data bytes 

ping: sendto: Message too long 

ping: sendto: Message too long 

ping: sendto: Message too long 

user@R1> ping 17.1.1.2 logical-system R1 size 1472 do-not-fragment PING 17.1.1.2 (17.1.1.2): 1472 data bytes 

1480 bytes from 17.1.1.2: icmp_seq=0 ttl=64 time=0.933 ms 1480 bytes from 17.1.1.2: icmp_seq=1 ttl=64 time=0.838
ms 1480 bytes from 17.1.1.2: icmp_seq=2 ttl=64 time=4.688 ms 

-- Exhibit -

You are using the ping command to troubleshoot a suspected MTU problem. 

A. Referring to the exhibit, which two statements are true? (Choose two.)The first ping fails because the do-not-fragment
option is set. 

B. The first ping fails because the Junos OS takes into account Layer 2 headers while calculating the MTU. 

C. The first ping fails because the Junos OS takes into account ICMP and IP headers while calculating the MTU. 

D. The first ping fails because the Junos OS takes into account the CRC header while calculating the MTU. 

Correct Answer: AC 

 

QUESTION 4

You are asked to provide an audit trail for all user activity on your Junos device. Which syslog configuration statement
accomplishes this task? 

A. user * {any any;}file messages {any notice;authorization info;} 

B. user * {any any;}file messages {any info;authorization info;} 

C. user * {any emergency;}file messages {any notice;authorization info;}file interactive-commands {interactive-
commands any;} 

D. user * {any emergency;}file messages {any notice;authorization info;}file audit-commands {authorization any;} 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 

-- Exhibit -user@host> request system software add 
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... 

WARNING: The /var filesystem is low on free disk space. 

WARNING: This package requires 1 k free, but there 

WARNING: is only 666502k available. 

-- Exhibit -Which three commands are useful in identifying and addressing the cause of the lack of disk space? (Choose
three.) 

A. show chassis routing-engine 

B. show system storage 

C. show system directory-usage 

D. request system software add validate 

E. request system storage cleanup 

Correct Answer: BCE 
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